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I. 

𝟖 × 𝟏 = 𝟖

 

√2 √3 √4 √5

 2 + √3

2 + √3 2 − √3 2√3 √2 + 3

 2 − 𝑥ଶ + 𝑥ଷ 𝑥ଶ

1 −1 2 3

 (−3 , −5 )

1 2 3 4

 

𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0 𝑎𝑥 + 𝑏𝑦 − 𝑐 = 0 𝑎𝑥 − 𝑏𝑦 = 0 𝑎𝑥 + 𝑏𝑦 + 𝑐

 

1 2 3  
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II. 𝟖 × 𝟏 = 𝟖 

 

 
ଷ଺

ଵ଴଴
 

  9
య

మ

 5𝑥ଷ + 4𝑥ଶ + 7𝑥

 

 

 

 C
A                                ∠𝐴𝑂𝐷 = 110° ∠𝐵𝑂𝐶  

  O  

D         B 
 

 

III. 𝟖 × 𝟐 = 𝟏𝟔 

 𝑥ଶ −
௬మ

ଵ଴଴

9𝑥ଶ + 6𝑥𝑦 + 𝑦ଶ

 6 
௣

௤

 

 

 

 (3𝑎 + 4𝑏 + 5𝑐)ଶ

(𝑥 + 4)(𝑥 + 10)

  𝑝(𝑥) = 3𝑥 − 2
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IV. 𝟗 × 𝟑 = 𝟐𝟕 

 √3 

 
ହ

√ଷି√ହ

𝑎)  ൫5 + √7൯൫2 + √5൯                    𝑏)  (5 + √5)(5 − √5)

 𝑝(𝑦) = 𝑦ଶ − 𝑦 + 1 𝑝(0), 𝑝(1) 𝑝(2)

64𝑚ଷ − 343𝑛ଷ 

 2𝑥 + 3𝑦 = 𝑘 𝑥 = 2 , 𝑦 = 1 k

4𝑥 + 3𝑦 = 12

 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0 𝑎, 𝑏, 𝑐

5𝑥 − 3𝑦 = 0 2𝑥 = 5

 

 

 

A x                 B  
                                     y 

C      D               𝐴𝐵 ∥ 𝐶𝐷 𝑥 𝑦

 

      A               P           B 

           500         y 

                                      𝐴𝐵 ∥ 𝐶𝐷 ∠𝐴𝑃𝑄 = 50° ∠𝑃𝑅𝐷 = 127°  

                  X                1270         𝑥 𝑦  

     C   Q                   R  D 
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 AB CD O  ∠𝐴𝑂𝐶 + ∠𝐵𝑂𝐸 = 70°  

∠𝐵𝑂𝐷 = 40° ∠𝐵𝑂𝐸 ∠𝐶𝑂𝐸  

 

        C             E 

 

       A        O            B     

 

                          D     

 
 

V. 𝟒 × 𝟒 = 𝟏𝟔 

 𝑥 + 𝑦 + 𝑧 = 0 𝑥ଷ + 𝑦ଷ + 𝑧ଷ = 3𝑥𝑦𝑧  

𝑥ଷ + 𝑦ଷ + 𝑧ଷ − 3𝑥𝑦𝑧 =
ଵ

ଶ
 (𝑥 + 𝑦 + 𝑧)[(𝑥 − 𝑦)ଶ + (𝑦 − 𝑧)ଶ + (𝑧 − 𝑥)ଶ

 XY MN O ∠𝑃𝑂𝑌 = 90°  a : b =    

2 : 3 c  

M         P 
                          a 
                  b                              

             X            O                   Y 
                     c 
 
                                        N 
                                    
 

 2𝑥 + 𝑦 = 7 

 

VI. 𝟓 × 𝟏 = 𝟓 

a  2𝑥ଶ + 7𝑥 + 3  

b 𝑥 − 1 4𝑥ଷ + 3𝑥ଶ − 4𝑥 + 𝑘 𝑘

*  * * * * 
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